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<latexit sha1_base64="rJy/AWMsO8Mbr0Y+wve3SNMimvA=">AAACAXicdVDLSsNAFJ34rPUVdSO4GSyCG0PSlrbLohuXFewDmlgm00k7dJIMMxOhhLjxV9y4UMStf+HOv3HaRlDRAwOHc+7lzjk+Z1Qq2/4wlpZXVtfWCxvFza3tnV1zb78j40Rg0sYxi0XPR5IwGpG2ooqRHhcEhT4jXX9yMfO7t0RIGkfXasqJF6JRRAOKkdLSwDx0uYi5iiG6Sc/cQCCcOllazrKBWbKtaqXccKrQtuw5NKnVa416BTq5UgI5WgPz3R3GOAlJpDBDUvYdmysvRUJRzEhWdBNJOMITNCJ9TSMUEuml8wQZPNHKEAax0C9ScK5+30hRKOU09PVkiNRY/vZm4l9eP1FBw0tpxBNFIrw4FCQM6sSzOuCQCoIVm2qCsKD6rxCPka5B6dKKuoSvpPB/0ilbTsWyr6ql5nleRwEcgWNwChxQB01wCVqgDTC4Aw/gCTwb98aj8WK8LkaXjHznAPyA8fYJ2K2XJw==</latexit>

!s > H
<latexit sha1_base64="W25mmoLhk9P/3L3k4DOKmUxh4cI=">AAAB8XicbVDLSgNBEOyNrxhfUY9eBoPgKeyqoCcJeskxgnlgsoTZyWwyZB7LzKwQlvyFFw+KePVvvPk3TpI9aLSgoajqprsrSjgz1ve/vMLK6tr6RnGztLW9s7tX3j9oGZVqQptEcaU7ETaUM0mblllOO4mmWESctqPx7cxvP1JtmJL3dpLQUOChZDEj2DrpoacEHeK+ua73yxW/6s+B/pIgJxXI0eiXP3sDRVJBpSUcG9MN/MSGGdaWEU6npV5qaILJGA9p11GJBTVhNr94ik6cMkCx0q6kRXP150SGhTETEblOge3ILHsz8T+vm9r4KsyYTFJLJVksilOOrEKz99GAaUosnziCiWbuVkRGWGNiXUglF0Kw/PJf0jqrBudV/+6iUrvJ4yjCERzDKQRwCTWoQwOaQEDCE7zAq2e8Z+/Ne1+0Frx85hB+wfv4BjoBkJ0=</latexit>

 black: full solution 
 dashed red: approx. 
 gray: no B-field

in unit of m<latexit sha1_base64="Eh539vutSkbvBgq4W7a6L+CxDX4=">AAAB6HicbVBNS8NAEJ3Ur1q/qh69LBbBU0lU0GPRi8cW7Ae0oWy2k3btbhJ2N0IJ/QVePCji1Z/kzX/jts1BWx8MPN6bYWZekAiujet+O4W19Y3NreJ2aWd3b/+gfHjU0nGqGDZZLGLVCahGwSNsGm4EdhKFVAYC28H4bua3n1BpHkcPZpKgL+kw4iFn1FipIfvlilt15yCrxMtJBXLU++Wv3iBmqcTIMEG17npuYvyMKsOZwGmpl2pMKBvTIXYtjahE7WfzQ6fkzCoDEsbKVmTIXP09kVGp9UQGtlNSM9LL3kz8z+umJrzxMx4lqcGILRaFqSAmJrOvyYArZEZMLKFMcXsrYSOqKDM2m5INwVt+eZW0LqreZdVtXFVqt3kcRTiBUzgHD66hBvdQhyYwQHiGV3hzHp0X5935WLQWnHzmGP7A+fwB1jeM8w==</latexit>

(M,Bi/f) = (5, 500)
<latexit sha1_base64="x7zDBw5qt4b1QZZWermp0/V730Y=">AAAB+nicbVDLSgMxFM3UV62vqS7dBIvQQqkZtehGKHXjRqhgH9AOQybNtKGZB0lGKWM/xY0LRdz6Je78G9N2Ftp64MLhnHu59x434kwqhL6NzMrq2vpGdjO3tb2zu2fm91syjAWhTRLyUHRcLClnAW0qpjjtRIJi3+W07Y6up377gQrJwuBejSNq+3gQMI8RrLTkmPnibbnusBOvdFWslqsIlRyzgCpoBrhMrJQUQIqGY371+iGJfRoowrGUXQtFyk6wUIxwOsn1YkkjTEZ4QLuaBtin0k5mp0/gsVb60AuFrkDBmfp7IsG+lGPf1Z0+VkO56E3F/7xurLxLO2FBFCsakPkiL+ZQhXCaA+wzQYniY00wEUzfCskQC0yUTiunQ7AWX14mrdOKdVZBd+eFWj2NIwsOwREoAgtcgBq4AQ3QBAQ8gmfwCt6MJ+PFeDc+5q0ZI505AH9gfP4ADdSRRA==</latexit>
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